BEMEYR FEIE

£33 = 3 2R L]
iiE R ZF EE Bk R pREas mas
P.
dbimE R £ () 5.88
=5CHk (GR) 5.76
HARZE (x%) 5.45
IEGL B tun - K 4 TR k% -1- | -2- | -3- | -4- | -5- | -6- | % e
1 5 3330 HLQ) =L 4.96 X 5.07 5.13 5.31 5.31 5.31
U ¥ -0.6 +0.5 -0.3 +1.1 +1.8 +1.1
2 6| 218 1L #% @) Fo 5.15 5.23 5.13 5.15 5.21 X 5.23
Y & #4935 +0.7 -0.1 +1.1 +0.4 +0.7 -0.1
31 11] 354 EluZDH Q) BIER SENFE X 5.03 5.13 X 4.84 5.09 5.13
NEYY 1/3 +0.4 | +0.4 -0.3 | +0.7| +0.4
4 3 143/RT BHEEQ) FLIRATH 4.90 4.82 5.04 4.74 5.08 X 5.08
¥h4 Wt -0.8 -1.2 -0.4 -0.4 -0.6 -0.6
5 7 311 | HH #H=OQ) =Rl 5.00 5.06 5.05 X 5.03 5.03 5.06
{L7 1} +0.6 0.0 +0.3 +0.3 +0.7 0.0
6/ 12) 190 LA =) HERFE 5.01 4.96 4.80 4.80 X 5.06 5.06
8 743 -0.7 -0.4 -0.1 +0.7 +1.4 +1.4
70 10] 103/ Al EM®(2) B 4.75 4.93 4.87 5.06 4.87 4.96 5.06
1943 ik -0.5 +0. 8 -0.2 +0.9 -0.1 +1.7 +0.9
8 1 310/ &R # (3) =23l X 5.03 5.02 4.64 4.86 4.84 5.03
I3 ERl -0.6 | -0.4 +0.8  +1.4 | +0.1 -0.6
9 41 220 (DM (2) RN AN 4.40 4.49 4.74 4.74
h S Hh -1.5 -0.8 +0.4 +0.4
10 8 221%=ZE EFQ) ZEB 4.60 4.65 X 4.65
43470 4% +0.3 -0.3 -0.3
1 20 12 #%E #3&Q) JERIE 3N =4 4.63 4.52 X 4.63
L3h3 7Y% -1.0 -0.3 -1.0
12 9 153 &#F ZF&() S]] X X 4.57 4.57
) M -0.5 -0.5




